3'd order calibration of
analogue feedback data

Robert Apsimon



Setup

e 2 processors on BPM11
o Stripline signals split 2 ways

« 1 pair of signals to feedback processor
(digital)

1 pair of signals to eel’s bedroom to
processor there (analogue)

* Processors calibrated against magnet
ZV (X
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Bunch 1, uncalibrated position vs. magnet current
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Bunch 2, uncalibrated position vs. magnet current
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Difference from bunch 1 # %sfs

Difference from bunch 1/ %sfs
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Difference from bunch 1 %3 Pasition from mag current
pO= -4 939+0. 6795
pl1=0.02178+0.0035336
p2=-3.345e-005+7 114 e-006
p3=2 066e-003+4 333 -009

chisg/M = 13.076
RMS=0.016 “s/v's
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Difference from bunch 1 %S Position from mag current
p0=0.03373+-0.7559
i p1=-0.005093+0.004301
p2=1.433e-005+8.037 e-006
p3=-8.088e-009+-4 939000
chisgdM = 7.040
RrMS=0.0147 Vsivs
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Difference from bunch 1 %= Position from mag current
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pl=-4.153+0.7512
p1=0.01891+0.004476
p2=-3.0458e-005+-8.35e-006
p3=1.936e-003+5.13532-009

chisg/M = 7.5930

RS=0.0165 “siv's
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Difference from bunch 2 # %sf's

Difference from bunch 2 / %sfs
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pl= -4 244 +0.5821
p1=001513+0.003314
p2=-2.061e-005+hb.0%e-005
p3=1.241e-008+3 B75e-003

chisg/MN = 85,512
R5=0.0386 “siv's
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pl=-02708+0.6075
pl1=-0.004846+0.003444
p2=1.308e-005+6.335e-006
p3=-6.664e-009+-3.5876e-009

chisg/M = 72350
RMS=0.0388 “siv's
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Difference from bunch 2 %= Position from mag current
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pO= -4.047 +0.5572

p1=0.01543+0.003411
p2=-2 393e-005+6.384e-006
p3=1.607e-003+3.934e-009

chisg/M = 49.791
RmE=0.0322 Ysiv's
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Difference from bunch 3 # %sf's

Difference from bunch 3 f %sfv's
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Difference frorm bunch 3 %S Paosition from mag current

pO= -3.129+0.5467
p1=0.01055+-0.003102
p2=-1.306e-005+5.731 e-005
p3=8.197e-009+3 538-003

chisg/MN = 110.043
RMS=0.0383 “saivs
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pl= 0.1564+0.5395
p1=-0.005653+0.003027
p2=1.382e-005+5 559 e-006
p3=-6.614e-009+-3.349e-009

chisg/MN = 83.973
RM5=0.0357 “siv's
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pl= -4 27 +0 4604

p1=0.01345+0.002659
p2=-3.024e-005+5 029e-008
p3=2.005e-003+3.113e-009

chisg/M = 46,943
Rr==0.0277 “aiv's
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Difference frormn hunch 1 £ Ysis

Difference from bunch 3 7 %sM's
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chisg/M = 3.183
RmS=0.00821 Ysivs
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pl= -2.3+0.5264
p1=0.006913+0.002957
p2=-7 8296 006+5 5562-006
p3=5.713e-009+-3 39e-009

chisg/MN = 21.311
RMS= 002 YWsivs
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Difference from bunch 2 %S Fosition from mag current
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pO= -2.403+0.6033

p1=0.005956+0.003415
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p3=4 26e-009+3.858e-009
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